10.3 Period and Phase
Shift
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A, y_ZSin(3(9—"))+1 B. y = —cos(p +5) -4
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Steps to graphing: .
1. ldentify the parent function. (S\ hB o (DS 9-)
Determine the amplitude, midline, period, and phase shift.
Mark the midline and phase shift on the graph (this is your new x- and y-axis).

Mark the 5-point pattern on the graph (per:Od). Mayk "ﬁ\l GW\P‘H\M{,
Sketch pretty WAVE.
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(on pg. 8 of the notes)
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I. The cosine function that has been J. Asine function with an amplitude of 3

translated 2 units down and 5 units to the and a period of% that has been shifted
left

\ . - down 2 units and "M”‘ts
Midline :) = .2 arP: 2
phase shift ' left 5 | o T, feaeny: 4
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